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Insert your solutions in the indicated places only

Question One) A uniform surface charge density of 20 ”C/I/n , is present on lhe spherical
surface r = 0.6cm in free space.
a) Find the absolute potential at P(lcm,25°,50°). (2 marks)
b) Find V,, given points A(2cm,30°,60°) and &
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Question Two) A Dipole having a moment p = 34_ -5a, +10a,(nC.m) is located at
A(1,2,~4) in free space. Find I at B(2,3,4) (3 marks)
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Question Three) A coaxial conductor has radi a =08mm and b =3mm and a dielectric

* material in between for which & =256.1f P= Eg,p (”%2) in the dielectric:
2
a) Find D and E as functions of p. (2 marks)
b) Find V,,. (2 mar _ P o~
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a) Find the total current crossing the plane z =3 in the
O<x=1i, 1.5<y <2.5. (1.5 marks) Xy prant
b) Find the total current leaving the region = 5¢m . (1.5 marks)
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Question Five) Uniform surface charge densities of 6(’7% ZJ and 2(’7% 2) are prese

r=2cm and r =6cm respectively, in free space. Assume I/ = Q at r =4cm, and calc
Vatr=7an.(6 marks)
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